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The business to the north has a driveway next to
|Driveway 1. Should this be eliminated and have
- |access from Anderson Ave.? Removing the TWLT
(road diet) diminishes the convenience for a NB left i
turn at the driveway? The business driveway may 1 —-
conflict with Driveway 1 and 2 and is located where ELS i
a SB right-turn lane is proposed.
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Figure 1. Site Plan

Site Access

Three driveways provide access to the site via Yale Boulevard. Driveway 1 will serve as the ingress to the west
drop-off/pick-up loop for passenger vehicles and will operate as a right-in driveway. Driveway 2 is an ingress
point of the parking area for passenger vehicles and buses. Driveway 3 will serve as an egress point from the

parking area and west drop-off/pick-up loop, operating as a right-out driveway. Figure 1 shows the driveway

locations and configuration.
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Will the spacing between Driveway 1 and 2 be a problem?  Is it clear to the drives which driveway to use?

The business to the north has a driveway next to Driveway 1.  Should this be eliminated and have access from Anderson Ave.?  Removing the TWLT (road diet) diminishes the convenience for a NB left turn at the driveway?  The business driveway may conflict with Driveway 1 and 2 and is located where a SB right-turn lane is proposed.

E39609
Callout
Are there conflicts at the crosswalk with vehicles leaving Driveway 3, required to turn right, south, towards the school crosswalk?  Can the crosswalk be relocated between the Driveways 1/2 and 3?  This would reduce the pedestrian/vehicle street crossing conflicts having the driveway where vehicles exit turning right downstream of the crosswalk.
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Driveway 2 should be right in only.  A NB left turn may conflict the SB right turn at Driveway 2 thinking the SB vehicle is turning into Driveway 1.




